H & 0l & AHS B Ml A

M ZOHI=X 2t
= Zojel =X s

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZOHRI =Xt 88,000,344 87,334,547 715,797
= 44,724,550
[ 37,053
= 6,465,564
Al 36,823,177
el sA sd 87,614,241 86,592,398 1,021,843
= 44,421,553
[ 37,053
= 6,412,540
Al 36,743,095
ZOI=SXAMEIA 25t 87,614,241 86,592,398 1,021,843
= 44,421,553
= 37,0563
= 6,412,540
Al 36,743,095
DEH & A2 49,770 63,000 13,230
== 18,900
Al 30,870
307 212+01& 49,770 63,000 A13,230
[ 18,900
Al 30,870
11 AMEISXAEEES 49,770 63,000 A13,230
Ond M EHH 49,770,000 49,770
= 18,900
Al 30,870
FHAl o0l 2 24 270,553 279,838 19,285
308 AHAIEMSOIE 270,553 265,309 5,244
183 S| 2SI ZB&HASAIE 270,553 265,309 5,244
Ol Aldate| THY AR
270,553,000 270,553
Hofe! XEXS XJA 35,000 42,700 AT7,700
307 212+01& 35,000 42,700 AT7,700
02 2B HAHE L 35,000 42,700 AT7,700
OROO! NYEED XA
35,000,000& 35,000
el A X 29,500 60,800 /31,300
307 el2to| & 29,500 60,800 /31,300
11 AMEISXAIEEXS 29,500 60,800 A31,300
Ol SHUS &It
2,500,000& %12 2,500
OZ 0l F=2+eHA} 4,900
—ZIIEXNNME LS FHAIK =
1,225,000& 1,225




2A:

ZOHR!I= Xl

H: Fojel =X =X
=l ZOHISXIABIA 25t EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—ZJIE=s02IE3l SEAIXIR
1,225,000& 1,225
—ZIITAIZEOCIHE S S AIXIS
1,225,000& 1,225
—ZIISEHASXIE AKX
1,225,000& 1,225
OAIZE OOl EIXIZO0IS & AL
2,850,000& 2,850
OZOHR! SAY &I 2,450,000& 2,450
O=0Atg StOtS=H 2,450,000& 2,450
O=0te19 & J|E &AL 2,450,000& 2,450
OAIZE el A=A 1,650,000& 1,650
OZOHRUSH SAIA 3t 225 /35
1,800,000& 1,800
OXFOHeIZ2stH 1,000,000 *12| 1,000
OZoHe! SJ1U3l 6,450
—ZIIEXINEOCIES —‘?'—EAIII@I
2,150,000&*13] 2,150
—ZIICHHI=XNE REAIXR
2,150,000 *13| 2,150
—ZIISANEOCI=XE SEAKXR
2,150,000 *12] 2,150
Osl%lts S&X 1,000,000& 1,000
ZOHC! At2I & XI 886,663 953,450 A\BB, 787
307 gI2Hol 886,663 953,450 66,787
03 QI HE2GHIEX 519,300 535,460 A 16,160
OFOHRIEHH HAES 519,300
—ZIIEXNXNEHLIE 2 FEAIXE
41,940,000& 41,940
—ZIIE=012I83l REAIXIF
41,940,000& 41,940
—ZIITAIZEOCIHE ] S AIXIS
41,940,000& 41,940
—ZIISEHASKXIE AKX
60,420,000& 60,420
— SN L LI=E 3
48,660,000 48,660
—st=2sES=XNEelga S AXSE
44,580,000& 44,580
—ZIISANEOCI=XE 2EAKXR
34,260,000 34,260
—ZIISEHIES REAIXIE
34,260,000 34,260
— ST E S RREXIF
34,260,000 34,260
—SI2HMIRRE RRAIKXR
34,260,000 34,260
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2A:

ZOHR!I= Xl

= Zojel =X s
=l ZOHISXIABIA 25t EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
—=g) gz 250,000« 1CH* 122 3,000
—d=)| dE= 336,000 336
OSFAl ZOJQIOIHUME AFIH] 3,900
—QIAUSBAH 2 Blo| MY
100,000 6 & =22 1,200
—H0He QIAME el oY BEL
= M 2,000,000& 2,000
—HO0i LADIHE W= (X)) A
700,000 %12 700
02 S3=2g4l 3,000 2,400 600
ORHAl ZOHQQIAME B3R S
250,000 * 122 3,000
03 A2 SHI 4,000 4,000 0
ORODIs O QABH DS BA|
4,000,000& 4,000
301 2N = 1,000 1,000
11 EAAHIXRES 1,000 1,000
ORONQIQIAME BAIAH BAZ
1,000& *1,000& 1,000
ZOHIRte X & (et tel) 1,686,402 2,631,8% A945,494
= 977,405
s 146,612
Al 562,385
101 e124d| 1,686,402 2,631,8% A945,494
= 977,405
= 146,612
Al 562,385
04 JIZtNZ22 XS 2+ 1,686,402 2,631,8% A945,494
OYsrEATIR| A
1,686,402,000& 1,686,402
= 977,405
= 146,612
Al 562,385
ZOHQI L Kt  XI& (AR Xt2l) 210,8% 369,655 A188,759
= 127,816
= 19,172
Al 63,908
101 @12A4H| 210,8%6 369,655 158,759
= 127,816
= 19,172
Al 63,908
04 JIZtNZ22 XS24+ 210,8% 369,655 A158,759
OAIZEHIZ Xtel At 210,8%,000& 210,8%
= 127,816




2A:
X XH -
o e

=aak

HOHOI= X 2t
Z0Hol =X EX
ZOjOI=RIMEIA 23t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 19,172
Al 63,908
ZoHr X2l (SXLR2l) 683, 127 725,575 N42,448
= 386,343
< 57,953
Al 238,831
307 lztol & 683,127 725,575 N42,448
= 386,343
== 57,953
Al 238,831
11 AMRISXAEEES 683,127 725,575 N42,448
OSXIZAel Arbl 683, 127,000 683,127
= 386,343
=S 57,953
Al 238,831
ZOHQIL Tl X (LEH M AESAIEZ TR ) 173,384 223,918 A50,534
= 94,745
= 14,212
Al 64,427
307 @I2t01 & 173,384 223,918 A50,534
= 94,745
= 14,212
Al 64,427
1 AMEISXAIEEXS 173,384 223,918 A50,534
OLSHMALABSAIE T2 At
173,384,000 173,384
= 94,745
= 14,212
Al 64,427
ST Se48 19,740 0 19,740
= 7,8%
= 1,777
Al 10,067
307 el2tol & 19,740 0 19,740
= 7,8%
S 1,777
Al 10,067
11 AMEISXAEEXS 19,740 0 19,740
OSsHM S24E 19,740,000 19,740
= 7,8%
& 1,777
Al 10,067
ZOHel LXI2IXI& (A2 Z0HRI DAL R 2]) 73,363 100,076 A26,713




2A:
X XH -
o e

=aak

HOHOI= X 2t
Z0Hol =X EX
ZOjOI=RIMEIA 23t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 73,363 100,076 NP6, 713
11 AMEISXAEEES 73,363 100,076 ND6,713
OZ O X2  XI (Al ZHE0H Q! OFDFAL KE
2l 73,363,000& 73,363
ZoHe! SsXA=20 KA 47,623,550 46,723,550 900,000
= 33,336,485
= 2,143,060
Al 12,144,005
307 el2to| & 47,623,550 46,723,550 900,000
= 33,336,485
< 2,143,060
Al 12,144,005
11 AMEISXAEEES 47,623,550 46,723,550 900,000
OZoje gsXa=0 X
47,623,550,000& 47,623,550
= 33,336,485
< 2,143,060
Al 12,144,005
E3SEX RS0 900,000 715,979 184,021
= 630,000
[ 40,500
Al 229,500
307 glztol & 900,000 715,979 184,021
= 630,000
== 40,500
Al 229,500
11 AMRISXAEEES 900,000 715,979 184,021
OEs2ExX JHtsSX 900,000,000 900,000
= 630,000
= 40,500
Al 229,500
ol gs =W 24A12+ XA 589,512 589,512 0
[ 176,854
Al 412,658
307 glztol & 589,512 589,512 0
= 176,854
Al 412,658
1 AMEISXAEEXS 589,512 589,512 0
odelas NS 24A12F X3
589,512,000& 589,512
= 176,854
Al 412,658
SSHMISXE 3,900,000 3,368,640 531,360
[ 1,170,000




2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,730,000
307 gl2tol & 3,900,000 3,368,640 531,360
=S 1,170,000
Al 2,730,000
11 ARRIS XA E X 3,900,000 3,368,640 531,360
Ossde s
3,900,000,000& 3,900,000
< 1,170,000
Al 2,730,000
STSTOHASSKIA(A) 396,410 439,9% N\43,546
301 EtE N = 391,910 435,456 N43,546
02 A2 A6 (FHAAHS, NSWE) 391,910 435,4% N\43,546
Ozlss30e 2sX&
391,910,000 391,910
308 AtXIEHMSOIE 4,500 4,500
13 2| 2SO CHEIZ AR S EAL | 4,500 4,500
OAl ZIITE Al FTIBISTIAIAE 9let
24l 4,500,000 4,500
LEHR FHESHHIA X 4,389,067 4,413,784 NP4, 71T
= 3,072,347
< 197,508
Al 1,119,212
307 212+01& 4,389,067 4,413,784 N4 T
= 3,072,347
=S 197,508
Al 1,119,212
1 AMISXAEEX 4,389,067 4,413,784 NP4, T1T
WSROfol FABEMLIA XD
4,389,067,000& 4,389,067
= 3,072,347
= 197,508
Al 1,119,212
ol LEHSY gusESMHHIA X 627,866 665,142 N37,276
= 454,480
= 29,217
Al 144,169
307 @I2to1 & 627,866 665,142 N37,276
= 454,480
= 29,217
Al 144,169
11 AMEISXAIEEXS 627,866 665,142 N37,276
OFad LIS SdU=2SAEIL X
! 627,866,000& 627,866
= 454,480




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 29,217
Al 144,169
ZoHe! SSAHLHAHIAAS 3,000 2,352 648
= 1,500
Al 1,500
307 gl2to| & 3,000 2,352 648
[ 1,500
Al 1,500
11 ARRIS XA E X 3,000 2,352 648
Ol S AMHIAAS
3,000,000 3,000
= 1,500
Al 1,500
LETHEMEIA HIRH X 2,700,000 2,400,000 300,000
= 1,890,000
[ 123,000
Al 687,000
307 glztol & 2,700,000 2,400,000 300,000
= 1,890,000
== 123,000
Al 687,000
1 ABIS XA EE 2,700,000 2,400,000 300,000
OZLTHEAEIA HRH X2
2,700,000,000& 2,700,000
= 1,890,000
s 123,000
Al 687,000
AN XA H*H X 2,363 2,740 A3TT
= 1,654
=S 107
Al 602
307 21201 & 2,363 2,740 N377
= 1,654
= 107
Al 602
1 AMISXAIEEXS 2,363 2,740 A3TT
OcoegaXd B2 Xd
2,363,000 2,363
= 1,654
= 107
Al 602
2ade 2245 N2 32,525 32,525 0
= 22,767
= 1,464
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2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,294
307 gl2tol & 32,525 32,525 0
= 22,767
= 1,464
Al 8,294
11 AMEISXAIEEXS 32,525 32,525 0
Ogadie 224E Xa
32,525,000 32,525
= 22,767
= 1,464
Al 8,204
QIZEHOI2 HEXIZHl X 9,000 9,000 0
S 2,700
Al 6,300
301 EetE NS 9,000 9,000 0
== 2,700
Al 6,300
02 ANRI2HHHS(HAAS, NLHE) 9,000 9,000 0
Oelsgdol2 HExI=sHl X
9,000,000& 9,000
= 2,700
Al 6,300
BRIPDIWL 28,537 28,537 0
= 22,830
Al 5,707
301 EtE NS 28,537 28,537 0
= 22,830
Al 5,707
01 Al 2E AL S(FRNEXME) 28,537 28,537 0
BRI 28,537,000 28,537
= 22,830
Al 5,707
HEZ0HS! SLHISXIA 12,000 12,000 0
= 8,400
< 540
Al 3,060
301 LEIE NS 12,000 12,000 0
= 8,400
== 540
Al 3,060
01 Al 2E AL S(FRNEXME) 12,000 12,000 0
Ol &oiel E4tHIE X2
12,000,000 12,000
= 8,400




2A:

ZOHR!I= Xl

2 Zoiel =X S
&2l U= AEIA 2ot (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 540
Al 3,060
SRl E4aX3Z2 K& 52,000 65,000 213,000
301 LPBNEZ 52,000 65,000 A13,000
02 MBI EZASHS(HUAS, XLTHA) 52,000 65,000 13,000
OFe!l & XAZ KA
52,000,000& 52,000
NAas FOfe! K& 25,560 46,400 A20,840
301 LEtENZ 25,560 46,400 A20,840
02 ASIBEEH2(HLHS, NSME) 25,560 46,400 220,840
OMAEZe Mo S =2lHE X&
25,560,000 25,560
ZIE el &8 S& 302,500 324,024 221,524
& 90,750
Al 211,750
301 LPENZ 302,500 324,024 A21,524
& 90,750
Al 211,750
2 NS 2EA>HS(HUHS, NLTHA) 302,500 324,024 A21,524
OZJN& ool &8 S&
302,500,000& 302,500
= 90,750
Al 211,750
MasEfelelzdl K& 30,000 30,000 0
& 9,000
Al 21,000
301 LPENSZ 30,000 30,000 0
& 9,000
Al 21,000
2 AN BEA>HS(HUAHS, NYHA) 30,000 30,000 0
OMASZEOHR oJ=Hl XI&
30,000,000 30,000
= 9,000
Al 21,000
HASEOR 220101 XA 28,000 38,000 10,000
& 11,400
Al 16,600
301 LPENSZ 28,000 38,000 A10,000
& 11,400
Al 16,600
2 M BEA>HS(HUHS, NYHA) 28,000 38,000 A10,000
OMASEOHR EX010] XA
28,000,000 28,000
T 11,400
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2A:
X XH -
o e

=aak

HOHOI= X 2t
Z0Hol =X EX
ZOjOI=RIMEIA 23t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 16,600
o= 24 3,357,500 3,298,175 59,325
== 70,000
Al 3,287,500
307 212+01& 3,357,500 3,298,175 59,325
< 70,000
Al 3,287,500
05 2ItRIE = 3,357,500 3,298,175 59,325
o=z 24 3,357,500,000& 3,357,500
= 70,000
Al 3,287,500
el ¥FEER0 =29 244,830 281,889 A37,089
=S 48,966
Al 195,864
307 21201 & 244,830 281,889 A37,059
< 48,966
Al 195,864
10 AlRIS XA EEE 22X 244,830 281,889 A37,059
OBNE ABHEL0| 2
244,830,000 244,830
= 48,966
Al 195,864
ANZES B2 23 1,134,624 1,110,426 24,198
=S 62,392
Al 1,072,232
307 21201 & 1,134,624 1,110,426 24,198
== 62,392
Al 1,072,232
05 2ItRIE = 1,134,624 1,110,426 24,198
OAZE I E R A2 2
207,973,000 207,973
= 62,392
Al 145,581
OALZHAE U EA 2 2L (AIHIZOH 926,651
— Q12| 858,212,000 868,212
—2gH| 68,439,000 68,439
ZoHRIFUES AL 2 3,875,207 3,823,263 51,944
= 387,523
Al 3,487,684
307 el2tol & 3,875,207 3,823,263 51,944
= 387,523
Al 3,487,684
10 AlISXAEEHE 22X 3,875,207 3,823,263 51,944




2A:

E M

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBMIZ=AEBNE 2
3,875,207,000& 3,875,207
= 387,523
Al 3,487,684
ZeIF2tESAIE JIsE2 85,360 0 85,360
= 44,000
= 30,800
Al 10,560
402 2IZtA=01d 85,360 0 85,360
= 44,000
S 30,800
Al 10,560
02 QIZEN 2 AL E X (0IETHR) 85,360 0 85,360
OFM =AES AL JIsEZ
85,360,000& 85,360
= 44,000
& 30,800
Al 10,560
=0 SAME 29 397,731 395,740 1,991
= 41,565
Al 356, 166
307 @20l & 397,731 395,740 1,991
=S 41,565
Al 356, 166
10 Al SXAEEE 22X 397,731 395,740 1,991
O==0ISHE 2 397,731,000 397,731
[ 41,565
Al 356, 166
OIS 0ISKIHHE 24 452,513 451,140 1,373
= 46,487
Al 406,026
307 el2to| & 452,513 451,140 1,373
= 46,487
Al 406,026
10 AlISXAIZEHE 22X 452,513 451,140 1,373
Ol HE0ISAELH 24
452,513,000 452,513
< 46,487
Al 406,026
ARISXIAIE 2N AL 7,860 30,000 N22,140
= 7,860
402 2I2F X201 & 7,860 30,000 N22,140
< 7,860
02 QI X2 AL E R (01X THE) 7,860 0 7,860




2A:

E M

X=]

ZOHR!I= Xl
el =X s8

D A= XIAHIA 23t

S - BE - S9l(31) - KISA - Ol &t e B2
OAM2IZXAIE SZIHE A
7,860,000& 7,860
T 7,860
ZOCITHIISXIAIE BALAL S222Y K& 242,400 259,200 216,800
= 24,240
Al 218,160
301 LetEEZ 242,400 259,200 216,800
T 24,240
Al 218,160
02 AIBIEZ A 6IZ(HAAS, RLTHR) 242,400 259,200 A 16,800
OHOUUTIHN=SXAIE SALL SE=2RsE
A& 242,400,000& 242,400
= 24,240
Al 218,160
ZOHQIKIGALZI THEAIE BSALL S222Y K& 26,340 0 26,340
= 2,580
Al 23,760
301 LetEEZ 26,340 0 26,340
= 2,580
Al 23,760
02 ABIEZAGIZ(FAAS, RLTHR) 26,340 0 26,340
OBMNAKIHABITHEAL SAK S422
=g X& 26,340,000 26,340
= 2,580
Al 23,760
ZONQITHIISXIAIE 2SR (28) 83,902 92,200 28,298
L= 9,220
Al 74,682
307 QI2H0l A 83,902 92,200 28,298
= 9,220
Al 74,682
10 Al SXAIEEHE 22X 83,902 92,200 A8,298
OXMHITIISXAIE 2GR (25)
83,902,000 83,902
= 9,220
Al 74,682
ZOHRAHFAIE 2SXA 4,412,591 4,400,912 11,679
= 2,983,821
= 191,817
Al 1,236,953
307 212t01 & 4,412,591 4,400,912 11,679
= 2,983,821
& 191,817
Al 1,236,953




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 4,412,591 4,400,912 11,679
OHMAANFAIE 28 X2
4,262,591,000& 4,262,591
= 2,983,821
< 191,817
Al 1,086,953
OZOHANFAIE 2 X (AIBIFI}) 150,000
—QIAH| 125,880,000 125,880
—=3H4| 24,120,000& 24,120
ZOHRIHFAIE 2SN (65) 574,536 539,515 35,021
< 57,454
Al 517,082
301 EtE NS 265,100 265,500 A400
= 26,510
Al 238,590
02 MR 2HASFS(HAAS, XLHE) 265,100 265,500 A400
OBMWANFAIL BAX SH224E
265,100,000 265,100
=S 26,510
Al 238,590
307 212+01& 309,436 274,015 35,421
< 30,944
Al 278,492
10 Al SXAEEHE2EHI 22X 309,436 274,015 35,421
OZOHANFAIL 2SR (65)
309,436,000& 309,436
= 30,944
Al 278,492
ZOHRIHFAIE LA X (48) 45,567 45,566 1
== 13,670
Al 31,897
307 212+01& 45,567 45,566 1
[ 13,670
Al 31,897
10 AlRISTIAIEEE 22X 45,567 45,566 1
OZOHANFAIL AKX X (45)
45,567,000& 45,567
= 13,670
Al 31,897
ZOHRIHFAIE SAA A - ORAZ2Z2FE X 31,112 31,112 0
s 15,556
Al 15,55
307 @I2t01 & 31,112 31,112 0
& 15,556




M ZOHI=X 2t
= Zojel =X s

=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 15,556
10 Al SXAZEE 22X 31,112 31,112 0
ONRUNFAIE SAK SF - 2224
g X 31,112,000 31,112
== 15,556
Al 15,55
O H=AIE SIIEED| dlE X2 565 1,711 A1,146
= 514
== 51
307 elzto| & 565 1,711 A1,146
= 514
== 51
1 AMISXAIEEXS 565 1,711 A1,146
OFNAHFAIL BIIHFI| A2
565,000& 565
= 514
= 51
AASO (ZOHAAIE) 332,000 286,000 46,000
= 298,800
== 23,240
Al 9,960
301 22N = 332,000 286,000 46,000
= 298,800
= 23,240
Al 9,960
01 Al EE A S (FRNEXA) 332,000 286,000 46,000
OR010|ZME B30 (ZOHRIAIA)
332,000,000 332,000
= 298,800
= 23,240
Al 9,960
HelE2g O AFAIE X2 164,416 142,800 21,616
< 32,883
Al 131,533
307 212+01& 164,416 142,800 21,616
& 32,883
Al 131,533
10 Al SXAEEHE 22X 164,416 142,800 21,616
OMel2g I H=AIE N
164,416,000 164,416
= 32,883
Al 131,533
ZoHe! 3pe5EE 2 18,957 98,314 AT9,357
== 18,957




2A:

ZOHR!I= Xl

2 Zoiel =X S
&2l U= AEIA 2ot (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 18,957 98,314 ANT9,357
& 18,957
10 Al = XAEHE2FHIE X 18,957 98,314 ANT9,357
OHFOHe! 3BraEH 29 18,957,000& 18,957
= 18,957
ZOHRISHD | H=AIE 2F 447,480 360,504 86,976
& 44,748
Al 402,732
307 QIZt01A 447,480 360,504 86,976
= 44,748
Al 402,732
10 AISISXAIEHE2ZHIEX 447,480 360,504 86,976
OFOUIIHFAE 2Z
447,480,000 447,480
& 44,748
Al 402,732
oI BSMEDE 29 628,300 526,049 102,251
T 62,830
Al 565,470
307 2I2+01™ 628,300 526,049 102,251
= 62,830
Al 565,470
10 IS SXAIEHE2ZHIEX 628,300 526,049 102,251
O ESHEIE 23
628,300,000& 628,300
& 62,830
Al 565,470
SRRl AATHEAIE 29 3,002,737 2,756,543 246,194
T 299,062
Al 2,703,675
307 2I2+01™ 3,002,737 2,756,543 246,194
T 299,062
Al 2,703,675
LN EEEEEEES 3,002,737 2,756,543 246,194
ORNIKATHEAE S
2,990,617,000& 2,990,617
& 299,062
Al 2,691,555
OBMNIESTHEAIL 2 (AIHIZIH)
12,120,000& 12,120
HOHC! MNATHEAAL SSXNA(TS) 233,091 236,295 A3,204
= 24,009
Al 209,082
301 LEBENZ 79,470 78,600 870




2A:

ZOHR!I= Xl

2 Zoiel =X S
&2l U= AEIA 2ot (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 8,163
Al 71,307
P2 A BEHHZ(HAHS, NYHA) 79,470 78,600 870
OFOQINATUZAIL ST S2224g
79,470,000 79,470
& 8,163
Al 71,307
307 212+01™ 153,621 157,69 A4,074
& 15,846
Al 137,775
10 IS SXAIEHE2ZHIEX 153,621 157,69 24,074
OO ATHEAIE 2 X2(7E)
153,621,000& 153,621
& 15,846
Al 137,775
ZoHel HATHEAIE AKX X2 (45) 58,230 65,270 A7,040
& 19,581
Al 38,649
307 212+01™ 58,230 65,270 AT,040
& 19,581
Al 38,649
10 AIEISXAIEHE2ZHIEX 58,230 65,270 AT,040
OFOIMATHEAIL AKX KA 4T)
58,230,000& 58,230
= 19,581
Al 38,649
ORI M A THEAIE OHAHIE K& 12,693 41,078 A28,385
& 12,693
307 2I2+01A 12,693 41,078 A28,385
T 12,693
10 Al S XA EEHE2FHIE X 12,693 41,078 A28,385
OXOCIMATHE AL DIAHE XA
12,693,000& 12,693
= 12,693
ZOHCIEHTHE AL Dl3l=E 107,904 111,360 A3,4%6
T 33,984
Al 73,920
307 2I2+0l ™ 107,904 111,360 A3,4%6
= 33,984
Al 73,920
10 IS SXAIEHE2ZHIEX 107,904 111,360 A3,45%
OO ATHEAIL Dlal=E
107,904,000& 107,904
& 33,984




2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 73,920
O MHHEANE JISES 122,500 91,000 31,500
= 61,250
= 42,875
Al 18,375
402 2IZtA=01d 122,500 91,000 31,500
= 61,250
= 42,875
Al 18,375
02 PIIH2 AN 2 X (01T 122,500 91,000 31,500
OBMWANLTHEAIL JIs2Y
122,500,000 122,500
= 61,250
= 42,875
Al 18,375
OIS XA SAHAH M<IHAH] K& 162,000 192,600 /30,600
= 162,000
301 LEIE NS 162,000 192,600 230,600
= 162,000
02 ANRI2HHSFS(HAAS, XNLHE) 162,000 192,600 230,600
OFMAFXIAIE SAHA M 2IH&H] X2
162,000,000 162,000
[ 162,000
ZOHAXSIHEAIE SAA M2IHEB] X2 31,200 0 31,200
== 31,200
301 EtE NS 31,200 0 31,200
= 31,200
02 ARSI 2E AT S(FIANS, XLETHE) 31,200 0 31,200
OZHARLTHEAIL SAK MM X
& 31,200,000 31,200
= 31,200
QLS JI=XZHEH 2 289,030 251,000 38,030
[ 26,400
Al 262,630
307 glztol & 289,030 251,000 38,030
= 26,400
Al 262,630
11 AMEISXAEEE 289,030 251,000 38,030
OXHAEASA JI=XdHH 24
82,050,000 82,050
S 26,400
Al 55,650
OFMAEASN JI=XJHE 2 (AHIF
ot) 206,980,000 206,980




2A:

ZOHR!I= Xl

. ZOje =X S8
=l ZOHISXIABIA 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZOHRIE | SA HERAMRE 29 59,427 57,148 2,279
= 17,828
Al 41,599
307 el2to| & 59,427 57,148 2,279
= 17,828
Al 41,599
1 AMISXAIEEXS 59,427 57,148 2,279
OHMIHEHASA SHZANRE 24
59,427,000 59,427
== 17,828
Al 41,599
OIS MEXHHE 29 630,000 600,000 30,000
= 189,000
Al 441,000
307 elztol & 630,000 600,000 30,000
= 189,000
Al 441,000
03 PIZHNEE 22X 630,000 600,000 30,000
OFNQUTIRME X AHE X2
630,000,000 630,000
== 189,000
Al 441,000
JOHUN S HEXZHE SAHL M <IHSH XA 8,400 8,400 0
= 8,400
301 EetE2 NS 8,400 8,400 0
== 8,400
02 ARI2E XSG (FHAAHS, NSWE) 8,400 8,400 0
OBONIXIZ MEHEN SAK WM X
o 8,400,000& 8,400
= 8,400
oINS ME NEE Xl - 28 X2 135,000 235,000 100,000
= 40,500
Al 94,500
307 el2to| & 135,000 235,000 100,000
= 40,500
Al 94,500
03 PIZHHEE 22X 135,000 235,000 100,000
O TEdE Hegs 28 N
135,000,000 135,000
[ 40,500
Al 94,500
oIt de d&= N2 80,000 0 80,000
= 24,000
Al 56,000




2A:

ZOHR!I= Xl

2 Zoiel =X S
&2l U= AEIA 2ot (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
301 LPBNZ 80,000 0 80,000
& 24,000
Al 56,000
02 MBI EZASHS(HAUAS, XLTHA) 80,000 0 80,000
OB MHHES X2
20,000,000 x4 80,000
T 24,000
Al 56,000
ZOHQI M ATHE Al MASTHON2Z 3,990 5,700 A1,710
307 QIZ2t01 A 3,990 5,700 21,710
11 Al SXAMEE X 3,990 5,700 21,710
OZOHIHATHEAIE MAZEHIU2YZ
3,990,000& 3,990
ZoeIsSXIALME=Z2 0 X3 17,877 26,710 28,833
& 5,767
Al 12,110
307 212+01™ 17,877 26,710 8,833
T 5,767
Al 12,110
10 Al = XA EHE2FHIE X 17,877 26,710 8,833
OXOCISXIALE M Zz ) X
17,877 ,000& 17,877
= 5,767
Al 12,110
ZHOHQ! RIS ALS] K KI&AS 71,106 0 71,106
= 35,553
= 10,666
Al 24,887
307 2I2+01A 71,106 0 71,106
= 35,553
& 10,666
Al 24,887
03 QAN HE2GHIE X 71,106 0 71,106
OZOHR! XIZALS] Kt XI&AHS
71,106,000& 71,106
iy 35,553
& 10,666
Al 24,887
SERAl HOHIIEXALH 2H 13,610 13,610
201 L2 AY| 12,720 12,720
01 AtR2elt] 12,720 12,720
O &ANZEHRUIIEXRME 2 720
—Bt=ZH| 40,0003 x1Z+102+0.8 320
—= 4| 50,0003 *1Z*10&+0.8 400

_21_




2A:

X XH -
o=

ZOHR!I= Xl
el =X s8

Rl ZOHA=SXIAHIA 23t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSBAIZONQIIETIAMES A 2,000
—SHAFNUINENAHE E2S M
2,000,000 2,000
— At 10,000,000& 10,000
405 KHaHE SH 890 890
01 Tt =S F = 890 890
OREAIZUIIENHEEH =257 890
-y 200,000 *1H 200
—o| Xt 150,000 *1H 150
—0ISAE 120,000 *1H 120
— gl 270,000 *1H 270
—LEld 160,000 *1H 150
IIASHI(GP)M2E X &X 4,000 0 4,000
401 AIEHIX SO 4,000 4,000
01 Al&H| 4,000 4,000
ONAZEE MBI X
4,000,000 4,000
ZOHe! MEOorY XA 378,746 336,846 41,900
= 302,997
== 53,024
Al 22,725
Z0HR! DI =MEEH 378,746 336,846 41,900
= 302,997
=S 53,024
Al 22,725
o el=dl X 378,746 336,846 41,900
= 302,997
= 53,024
Al 22,725
307 gl2to| & 378,746 336,846 41,900
= 302,997
= 53,024
Al 22,725
1 AMEISXAEEES 378,746 336,846 41,900
OZofel 2l=Hl X2 378,746,000 378,746
= 302,997
< 53,024
Al 22,725
A 2SI ZHI(HA=XI) 57,357 68,559 A11,202
=238l 57,357 68,559 A11,202
JI23Hl 57,357 68,559 A11,202
201 et 3| 42,957 48,39 N5,442
01 At22t2l] 14,616 12,960 1,656




S BOIQI=X T
M HYESAFH|(HOHI=X)
Chel: J1=2 &l EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ORM2I0I22Z| 13,824
— B2 h| 40,0002 x16Z 12 0.8 6,144
—= 4| 50,0003 *16H*12&+0.8 7,680
OflIAiE HaAES 1V
66,0002+ 12& 792
02 2224l 28,341 35,439 A7,098
ORERI 28,341
—S)|RH 2,530 x84021+ 12& 25,503
— Bt H 430355021 12 2,838
202 0441 11,520 17,280 AB,760
01 =2LHO4 ] 11,520 17,280 AB,760
OgRF&I|204d|
120,000& x16E *12&+0.5 11,520
203 PRF=&Y| 2,880 2,880
M EAM2IHRFAH| 2,880 2,880
ORN2IYRFAI
300,000& x12&*0.8 2,880
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